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Xtat XtAk
SE XA 21,979,528,685 SEXHA 21,009,294,499
EEEL=EEIEN 19,667,720,500 EEEI=ETE; 18,697,486,314
SISBNE CISBAE
EN 245,339 ESCE 245,339
J|EFRH 2 230,936,446 | EFRH 2 230,936,446
JIEFR S XA 374,723,800 JIEFRSAHAH 374,723,800
T} &F E XA 1,515,660,000 PPNV 1,515,660,000
S| 1 M| KAt 190,242,600 S| 1 Al KA 190,242,600
HI RS Xt 30,937,109,201 HI S S XAt 33,848,084,500
ES)| A ERFA 3,187,074,784
J|EFRH 2 31,879,251 | EFRH 2 10,744,000
SE XA 30,461,382,050 SE XA 30,206,417,816
P& A 443,847,900 L& XA 443,847,900
NP 52,916,637,886 RHAHS | 54,857,378,999
=27 S
SEE 19,398,295,354 SE2T 19,254,772,643
J|EFHRH S 3,741,743,783 JIEFRH S 3,598,221,072
H = T 1,021,818,183 H = TH 1,021,818,183
JIEt SS2H 341,364,753 JIEt RS2 341,364,753
SSHEEALTH 1,803,468,235 SSHHEALTH 1,803,468,235
SSIHMYERHY 12,489,900,400 SSOHMNERY 12,489,900,400
HSSSM 2,290,052,560 HIS S 2,290,052,560
J|EFHRH S 27,944,617 JIEFRH 2 27,944,617
=SHHSHET 2,070,815,999 HSSIHYAZ S
HESESY2M 54,792,988 X B ALTH
JIEtHIRE 2 136,498,956 =SS 2,070,815,999
B ALK HESEY2M 54,792,988
HIS ST A Z 2 Y JIEHIRE 2 136,498,956
SHEA 21,688,347,914 SHEA 21,544,825,203
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=} 7,615,237,500 N=F 7,615,237,500
= 92,195,058,847 AeEdol2 92,195,058,847
JIEHHEEH 378,129,775
J|EFE 2 ) = | oM 57,708,752
o= (222) -69,017,844,902 3 Eejzg)mg;mmg(mﬁ -66,875,872,326
XS 31,228,289,972 S 33,312,553,796
A= URSHEN 52,916,637,886 X2 HS 54,857,378,999
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